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 Subject: Mathematics                          Class - III                        Ch- 3(Subtraction)                          
Q.1 Multiple choice question:​  

1.​ How much does 4567 exceed 3946 ? 

            (i)    581              (ii)  631                  (iii)  621                                       

2.​ What should be added to 4000 to get 9630 ? 

            (i)    5430            (ii)  5630                (iii)  5023              

 

Q.2 Estimate the differences .Also find the actual differences : 

(i).  567 - 394 ( nearest hundreds)                        (ii).  726 - 514 ( nearest tens)         

          Estimated                 Actual                                Estimated                 Actual             

                                  

Q.3 Word Problem : 
(i). In a library, there are 2458 Books . Out of these,1438 Books are in Hindi 
medium. How many books  are left of the English medium ? 

 
 

Q.4 Subtract and check your answer : 
 (i).  2473 from 6792 
   

                         Subtraction                                        Check 

                                            

                                                         


